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SECTION-II
MATHEMATICS

26. Seventeen lakhs + seventeen hundred + seventeen thousand + seventeen = How
much 7
(1) Seventeen lakhs seventeen thousand seven hundred amd seventeen
Yy Fore. - al¥
(2) Seventeen lakhs eighteen thousand seven humdted and seventeon

(3) Scventeen lakhs seventeen thousand eight hundred and seventeen

(4) Seventeen lakhs cighteen thousand cight hundred and seventeen

27. How many years will be required to double the prnnciple amount of Rs. S0O00/
- by simple interest at the rate of 3 pcpa ?

(1 S0 (2)5 318 (4) 20
28. What will be the product of a greatest § digit number and 2 digit greatest even
number ?
(IYy 9% 99 9] {2y 95 99 802
(3) 97 99 804 4y 97 99 902
29. How many days after Balika din, falls Republic Day ?

(1y 23 (2) 24 (3 22 (4) 26

30. Neha's father deposited Rs. 10,000/ on her 1st birthday at the rate of & pepa
in bank. What amount will her father receive on her 6th binthday

(1) Rs. 14000 (2) Rs. 14800 (1) Rs. 156000 (4) Rs. 15800

SPACE FOR ROUGH WORK
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31. 70 Hectograms

32. 39 students collected Rs,

33. Sunanda Tai carned a profit of Rs. 17000 by the sale

How many gms. ?

(4) 7000

(n 7 (2) 70 (3) 700

525 cach for picnic. It had 40 notes of Rs. 500 ang
remaining were Rs. 5 notes.

How many Rs. 5 notes were there ?

(1) 95 ) 25 (3) 45 (52
of pomegranates. She had
spent Rs. 7000 on plantation, Rs. 5000 for pesticides, Rs. 3000 for labour and
Rs. 1000 for transportation.

Then, find the selling price of pomegranates.

(4 Rs 13000

(1Y Rs. 23000 (2) Rs. 33000 (3) Rs. 1000

34. The breadth of a rectangle is equal to the side of a square whose perimeter is

35.

36.

24 cm. If the perimeter of a rectangle is 28 ¢m, then what will be its length ?

(1) 4 cm (2) 6 cm (3) 7 cm (4) Bem

There are chairs from no. XXVII to LXVI in a row at an Auditorium. Then

how many chairs are there in the row ?

(3) 40 (4) 48

(1) 38 (2) 39

A number is divided by 15, the quotient is 12 and remainder O. If the same

number is divided by 16, what will bc remainder ?

(1) 180 (2) 4 3) 6 @) 14

SPACE FOR ROUGH WORK

0201 / Urdu Set-A
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- . 3 e v A - 3
St 9 40L s 500LEY _.Pc(:.l.rcE(.!(t.ﬁ\cmn':m . 2 wr«t 32
- . - .
p(whhhltﬁrn(«.\llnwc\l‘.l\ ..\l\. 345
85 (4) 45 () 25 (2) 95 (1)
AL U9, T0004 22K 01 L U P 8 ,Cxt_é.:_\l&\.,w eLACE 33
R\Cl\u.l\.r\.( (\n_rlx-.mﬂ..au\......‘ 01 ::;n(rw(.dn Eu:::\rm\:\.':mcc:\
&1 33000 (2) &1 23000 (1)
&1, 13000 (4) 41/ 1000 (3)
LS T 28 oW P $ig S TG L LS DL Bplvsr 24 34
e
6 (2) 4
B () 73
tfun S F M 2815 FLE LXVI o XXVIL BTN 35
39 (2) 38 (1)
4% (4) 10 (3)
12 el i J ) hn_uw.kl...\_ 36
180 (1)
6 (3)
dog L
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% -~ . » ¥
37. What is the difference between the number with place

alue of hundred and

. pumber 31843 2
the number with a place value of one-hundredth 1 the

(1) 30003 2) 3003
(3) 300.03 (@) 299.97

, (g, jowar at
Rutuja bought 6 kg. wheat at the rate of Rs. 35 per K& 3 rm . She om<M:m
rate of Rs. 32 per kg., half kg. tea at the ratc of Rs. 280 per mw n_.u_.mﬁ 4
500 rupee note to the shopkeeper. How many rupees will the shopkeep urm

to her ?
(1) Rs. 446 (2) Rs. 186
(3) Rs. 54 (4) Rs 64
39. Kolhapur-Ahmednagar bus started from Kolhapur with 25 passengers. At
Karad, 12 passengers boarded the bus and 4 women got down. At Satara, 16
passengers boarded and 9 got down. At Pune, some passengers 2ot down. If,
at Ahmednagar 15 passengers were remaining, how many passengers got down
at Pune ?
(1) 25 (2) 29
(3) 23 4) 34
40. Which digits will occur in place of [1 and A, respectively, in the following
example ?
ooo
xAAA
110889
(1) 3,3 @ 19
(3) 0,9 @ 4,5
SPACE FOR ROUGH WORK
0201 / Urdu Set-A 140032 ”

P.T.O.

m.ﬁ&ﬁg\ﬁcmgﬁ\hukm_uﬁﬂﬁ\f\l\o\t_u\rm_u“ﬂq\hum—kﬂusﬁc\._ 318.43 37
3003 (2) 30003 (1)

299.97 (4) 300.03 (3)

oL E 1280015 3e b L Ebe 13206 6ol K3 si35L orit

38
%Pi“_rrtml\nlr:&wﬁﬁm.%..\»._%ql:mo?n:w\h.t_cn‘..\.w.ﬁwkvmn\
&~ 186 (2) wt 446 (1)
<1 64 (4) &1 54 (3)

ARIP AL Z PPN 2PN Bz bdTD s jlaas st S friogdd 39

mlmk@..r\:\._mfﬁ\ﬁuf&hhmm\mfsm.\\uQ.p\..»\_...\ul.ah\.._.wt_ﬁw\w_\._m\nﬁwh.\__\ﬁf(mﬁ
eGP e b
25 (D)
23 (3)

29 (2)
34 (4)

L une s ol oA LS A o O LB 40

Ooog
XxAAA
110889
1,9 (2) 3,3 (1)
4, 5 4) 0, 93
Lo £ ¥
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41. By how much is 5% of 100 less or more than 10% of 10 ?

(1) More by 4 (2) Smaller by 4 ..nnt _HrH..ﬂL\Q_o h.ci\&ufoo 41

(4) Smaller by 3 @ vlic4 (1)
(=5 @) nlic 5 (3)

(3) More by 5

42. Identify the figure in the series,

AOAADOAA L @@@@@@@@(PE\E_F_EB 42
LN oA -

| A @ @ m
®©G @AM | . VAVANO OJORY

43. Rohit gets a monthly salary of Rs. 18000 mo_. month. He spends IE part on

1 -
N a_\ow\\ L e 5 adtuie WP 218000 &2 43
petrol, r:_ part for domestic cxpenses and IE part on bank instalment and 9

saves Sn remaining amount. How much mBo:E does he save ?

R Ry B R R RS S

(1) Rs. 2000 (2) Rs. 8000 & 8000 @) % 2000.(1)

L1, 9000 (4) £, 4000 (3)
(3) Rs. 4400 (4) Rs. 9000

23l SN GIp P mwm..ﬂ.tmNbE\&&NuGMﬂ.wt_Eb\&mFMQM 1 mnrlw..hmrh\h\ﬁimk 44
44. Netrali purchased 2V ltr. milk everyday for first 15 days of September. On the

,.‘%mu\.u...lch
remaining days, she purchased 12 It. milk at the rate of Rs. 52 per lt. How L5/ 3120 () £/ 1320 (1)
much did she spend in the month of September ? qrt 2350 (4) ME 3140 (3}
(1) Rs. 1320 (2) Rs. 3120 |
(3) Rs. 3140 (4) Rs. 2350 :
SPACE FOR ROUGH WORK FAANTAT,
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Question 45 and 46 : Answer the questions based on the pictorial information,

Saplings in the
Nursery

No.

of saplings

Rose

Hibiscus

Champa

Jasmine

2

(&
&

®

.
¥

4

;W

g ¥

|

Scale: 1 picture = 10 saplings

45. How many saplings are there of Hibicus, champa and Jasmine in all ?

(1y 70
3) 90

(2) 80

“@ 11

0

46. How many more number of saplings are there of Rose and Jasmine than that

of Hibicus
(1) 20
(3) 50

47. of 25 +

:
5

92

1] —

of 100 =

1
5

(2) 10
4) 30

of (1

Write the correct number in the box.

(1) 275

(3) 125

(2) 55

(4) 250

SPACE FOR ROUGH WORK
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e e et i 4

”h\nf.tnhr_ﬂ 46 1 45 \.\“(._.w\

:\G..«Q Cr.«_ P

_F ]
ity =

e 8
Ly . X

&
¥

nlu.u 10 uN\m | “L.r.u

ey EISL St e a5
80 (2) 70 (1)
110 (4) 90 (3)
- - #
4h|:m\.rw.\p.._§.C\CtuhQ\\ P.l_\..tQ\Q:ﬂh._\.\.c.._l.\ 14 46
10 (2) 20 (1)
30 (4) 50 (3)
1 1 %
W of 25 + 5 of 100 = 3 of O 47
..&\»\J\c\%rv_..ﬂw
55 (2) 275 (1)
250 (4) 125 (3)
Lded Ly
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48, What decimal traction does the shaded pottion in the following figure indicate ?

4
LT 2 7 (3) 0.2 (4) 4.16

49

Aditsa was born on Saturday 14th Jul. 2001. What was the day on his cightth
birthday 7

1 Sawrday (2) Monday

(3) Tuesday (4) Wednesday.

0. Which symbols will oceur serially in the boxes in the following expression 9

eldJ20110Os505 =48

(ly », - % + (2) X, +, +, — (3) +, x, +, - (4) + +, x, -

n

What will be the product of the place value of the digit in ten thousands place
and the face value of the digit at the thousands place in the number 58279 ?

1y 1000000 2) 1000 (3) 10000 (4) 100000

‘n
(]

- Joseph used 20 quires out of 1 Ream for xerox. How many sheets are remaining
with lam ?

1y 24 (2)0 (3) 12 (1) 480

SPACE FOR ROUGH WORK

y & .
Yo bl S s A 48

) 6 D

|-

416 (&) 0.25 (3)

Erenbdp Ao ATE it ondl s 2000302714815 49
5 (2) £ M
£ (3)

o4 (4) b

-E e Lo b L b b AeT LuRSe s E e 50
ed20Q10030505 =48
X+ - (2) o=, LD

I () +, X+ - (3)

Sobad §r S m iy p ol sl ed S5 S Oy p Gl N n 2w 1 $8279 51
= CA * s~
TEr SNy

0201/ Urdu Set-A . 20 0f 32 P.T.O.
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n
e

What is the sum of all divisors of 133 9

(1) 134 (2) 145 (3) 160 4) 151

1
54. How many meters should be subtracted from —OM m and M m to get mm m.

as remainder ?

(1) 475 m (2)525 m (3) 425 m @ 575 m

55. In a company, 95 workers work on same salary. The company nceds Rs.

807500 per month for their salary. Then how much salary does every worker
get ?

(1) Rs. 9500 (2) Rs. 9400 (3) Rs, 8400 (4) Rs. 8500

56. Of the following, which object will have all its surfaces in square shape ?

(1) Brick (2) Compass box

(3) Cubical box (4) Match box

57. If the below given figure is folded to make a cube, which colour will not come
adjacent to red colour ?

red

violet

blue

green

yellow | orange |

(1) Blue (2) Orange (3) Yellow (4) Green

SPACE FOR ROUGH WORK
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TSPl 133 53
145 (2) 134 (D
151 (4) 160 (3)
s iy i 3 1
L sl um 1 SG FRE LN L 7 o 10, 54
525 (2) 475 ()
575 (4) A 425 (3)
Z 5160030 807500 ok e 2 GAL L F iy S FULLnp 95Ut KL 55
e ..u_wnurmﬂmt\.\(.ﬂ\?\\.l‘.lﬁ.uu&
&2/ 9400 (2) £ 9500 (1)
£/ 8500 (4) <31 8400 (3)
it P RS Sl LSt 56
S @ wat (1)
S8V @4 5 (3)
S LT Lo S e g el S Fikst s 57
Ju
Sl 15
e
b vmﬂ
I (@) bk 3 e @ k)
Lded L
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58. For the tollowing fractions, which <, >, = of the signs will be appropriate ?

7 m g
_u q 49
(N <, = Q) < <
@) > = @ < >

59. Sonali purchased a house at Rs. 37,50,000, She made furniture for the house
worth Rs. 7.25.000. At wh:

at price should she sell the house to gain a profit
of Rs. 5.25,000

(1) Rs. 5,00,000

(2) Rs. 50,00,000
(3) Rs. 4475000

4) Rs. 49,50,000

60. The diameter of a circle with center B is the 1

radius of circle with center A. What
is the length of scg. AB

(D3 em (2) 6 cm

(3) 12 cm 4 2 cm

61. What is the sum of odd prime numbers between 1 to 50 ?

(H 328 (2) 326

3) 303 4 273

62. Dhanesh boarded a train at 11 o'clock in the afternoon, then at what time did
he board a train as per 24 hour clock ?

() 11 PM (2) 21 o'clock
(3) 12 o'clock (at night) 4) 23 o'clock

SPACE FOR ROUGH WORK B
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cms o

e S 0 PTG e i e

ey R B e

T T R A A

t..M\ e L bt \."J\r.\(..\_r.rm.l_.t\ =<, >, CnQum.ur.Fé‘..hC.\\\(whm\.. 58
; 91
: 19
< <(2) n
<, >4 =(3)
A s K272 000 & nd L A, 5 £-937.50,0004 L1062 59
,ﬁ.c{t 5,25,000 f_\,!a - ,{c.l_.calr
50,00,000 (2) 5,00,000 (1)
49,50,000 (4) 44,75,000 (3)

q&\u.c.ﬂic\?w b3 B B3I, 211y S A = (6 5% Kl ndrB 60

62
2 @)

3
12 3

Vo Get 406 F 1.50 61
326 (2) 328 (1)
273 (4) 303 (3)

Ut LU Gl 280058 242 Ghuezg ,%vl:zﬂh&_ 62

.21 (2 gy (D
£.23 ¥ o12el ()
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63. In a school. everyday 70% students out of 2300 perform Suryanamaskar. How

many students do not perform Suryanamaskar ?
() 1610 (2) 690

(3) 590 4) 1410

64. By how much a 5 digit greatest number formed using digits 0, 2. 3, 9. 7 only
once is greater than a five digit smallest number formed using the same digits ?
(1 117699 (2) 94941

(3) 76923 4) 76941

65. Which number from the given options when divided by 5, 6 7 will give 4
as remainder ?

(1) 42 (2) 214

(3) 206 @ 210

66. How many number of angles are there in the adjacent figure ?

(1) 10 2) 9

3) 8 (CON

SPACE FOR ROUGH WORK

0201/ Urdu Set-A 26 of 32 P.T.O.

S ———————

LI E L 65 L S i B 3702 B 2300LJFIG 63
690 (2)
1410 (4)

1610 (1)
590 (3)

;(.alm\xcl.\é:i_.\.P.\l.\.memc_...ﬁ.hxev.\i(n,u\ﬁcixe. 0,2,3,9,7 64
3\&_,\.ﬁ\hlca.FLMP.FLWQ\A.WWF:FAP\QTV.
94941 (2) 117699 (1)
76941 (4) 76923 (3)

S Bra0l i S ate)1s, 6, Tl A its 65
214 (2) 42 (1)
210 (4) 206 (3)

e St Ftits 66

9 (2) 10 (1)
7 (4) 8 (3)
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67. Vishwas 7::%-: 5 dozen ...:Cmcz at Rs. 10 per n..__av,...m n:inm were found

damaged. He sold the remaining copies at Rs. 715. “In this transaction, how C\‘Cnb._.\iw-rw‘.w_.(.\.rhbvmpac_ S AL s oL u.fw. 10 E 67
much profit per copy did he make ? - -t S L B Pl i e s ..(.r\,u\(.P:.:{
(1) Rs. 13 (2)Rs. 3 (3) Rs. 115 (4) Rs. 12 © w3 (2) e 13 (1)
mlt_w 4) 115 (3)
68. T x5-2x3+4=7 ) ¥
(h 21 (2) 67 e 4) 147 Tx5-2x3+4=" 68
67 (2) 2§ {1}
. < : 14 33 (3
The capacity of a water tank is 140 . 4 part of it is filled with water. How 7@ (3)
7 . I
many liters of water is required to make it full ? \\_Pﬁt_kh\l\ct\%r\_npry\pc_.\v = ﬂc_.\.QFPZ\ r\.\:po(urm £ 69
(1) 601 (2) 701 (3) 80L. (4) 90L1. nql.u:&\ ._.W
70 (2) 60 (1)
70. Shrikant drives a vehicle at the speed of 85 km/hr. For how many hours will 90 (4) 80 (3)
he have to drive to cover a distance of 595 km, if the spced remains the same ?
(1) 7 hrs . @) 6 hrs SHE T 1 L3 38k 5950 5 1-a bl § e A $253 12 MG,\\ 70
(3) 8 hrs (4) 5 hrs 0 s
6 (2) 7 (1)
71. Decep deposited Rs. 2000 for 4 ycars at the ratc of 8 p.c.p.a. Pari deposited Rs. 54 R (3)
4000 for 4 years at the rate of 4 p.c.p.a. Then what will be the relation between :
the amount that they. will receive after 4 years. ? _, QQ\%Q?\..INQTaptpooPL;E_LHOﬁ.\lm\\QQ;\omLL\.l\‘LTaP.tqooplcr._ 71
(1) Deep will get more than Pari aﬂxQ_t_HQ.x @:WHCE‘EL?&!I(.I.(\
(2) Deep will get less than Pari m\p_«t.mxec_ @ wlieLaide (1)
Zm\.h\Gm_u_\._..t. 4) Q:\.»Om.t (3)
(3) Both will get the same amount
(4) Pari will get more than Deep
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72.

74.

75.

How many number of triangles and squares are formed in the given figure ?

2) 5,5
(4) 4, 4
What will be sum of first and last number if 32976, 23976, 32796, 23796 are
arranged in ascending order ?
(1) 56 772 (2) 56 592

(3) 56 952 @) 56 772

. 1 1
How many times = should be added to = so as to get the answer 7 ?

7 7
(1) 49 (2) 48
3 7 4 14

The population of Sakoli village is 1,54,389. 1, 08,457 people have mobiles.
How many people do not have mobile ?
(1) 45.832 (2) 45,932

(3) 45,942 (4) 55,942
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5,502 4, 2 (1)

4, 44 5, 6(03)

mmxﬁwqucﬁ_k_%.F.ﬁ«&rnr.\.\.\.%wh:_e_ 32976, 23976, 32796, 23796 73

56592 (2) 56772 (1)

56772 (4) 56952 (3)
|qu4\_..w\.uh..\ﬂmw\¢wﬁwr\u W 74

48 (2) 49 (1)

14 (4) 7 (3)

VLWL URE 2 e w3 firu £us 108457 = oo 154389 G TSUSEL 75

45932 (2) 45832 (1)
55942 (4) 45942 (3)
Ll Le¥is
L
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